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mΠ=140. MeV Hmass 2L
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mΠ=180. MeV Hmass 3L
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mΠ=210. MeV Hmass 4L
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mΠ=240. MeV Hmass 5L
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mΠ=270. MeV Hmass 6L
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mΠ=290. MeV Hmass 7L
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mΠ=310. MeV Hmass 8L
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mΠ=330. MeV Hmass 9L
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mΠ=350. MeV Hmass 10L
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mΠ=380. MeV Hmass 11L
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mΠ=416. MeV Hmass 12L
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mΠ=450. MeV Hmass 13L
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mΠ=510. MeV Hmass 14L
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mΠ=556. MeV Hmass 15L
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mΠ=590. MeV Hmass 16L
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mΠ=640. MeV Hmass 17L
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mΠ=670. MeV Hmass 18L
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mΠ=690. MeV Hmass 19L
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mΠ=710. MeV Hmass 20L
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mΠ=740. MeV Hmass 21L
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mΠ=800. MeV Hmass 22L
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mΠ=1000. MeV Hmass 23L
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mΠ=1600. MeV Hmass 24L
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mΠ=2250. MeV Hmass 25L
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mΠ=2800. MeV Hmass 26L
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mΠ=2900. MeV Hmass 27L
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mΠ=2979. MeV Hmass 28L
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mΠ=3050. MeV Hmass 29L
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mΠ=3100. MeV Hmass 30L


